

تکرین سری دہم

اہم خاصیتیں

انہا

$$a|n\rangle = \sqrt{n} |n-1\rangle \quad a^+|n\rangle = \sqrt{n+1} |n+1\rangle$$

$$\langle n|m\rangle = \delta_{nm}$$

$$a = \begin{pmatrix} 0 & \sqrt{1} & 0 & 0 & 0 \\ 0 & 0 & \sqrt{2} & 0 & 0 \\ 0 & 0 & 0 & \sqrt{3} & 0 \\ 0 & 0 & 0 & 0 & \sqrt{4} \\ \dots & & & & \end{pmatrix}$$

$$a^+ = \begin{pmatrix} 0 & 0 & 0 & 0 & 0 \\ \sqrt{1} & 0 & 0 & 0 & 0 \\ 0 & \sqrt{2} & 0 & 0 & 0 \\ 0 & 0 & \sqrt{3} & 0 & 0 \\ 0 & 0 & 0 & \sqrt{4} & 0 \\ \dots & & & & \end{pmatrix}$$

$$X = \sqrt{\frac{\hbar}{2m\omega}} (a + a^+) = \sqrt{\frac{\hbar}{2m\omega}} \begin{pmatrix} 0 & \sqrt{1} & 0 & 0 \\ \sqrt{1} & 0 & \sqrt{2} & 0 \\ 0 & \sqrt{2} & 0 & \sqrt{3} \\ 0 & 0 & \sqrt{3} & 0 \\ \dots & & & \end{pmatrix}$$

$$X^2 = \frac{\hbar}{2m\omega} \begin{pmatrix} 1 & 0 & \sqrt{1 \times 2} & 0 & 0 \\ 0 & 1+2 & 0 & \sqrt{3 \times 2} & 0 \\ \sqrt{1 \times 2} & 0 & 2+3 & 0 & \sqrt{3 \times 4} \\ 0 & \sqrt{2 \times 3} & 0 & 3+4 & 0 \\ 0 & 0 & \sqrt{3 \times 4} & 0 & 4+5 \\ \dots & & & & \end{pmatrix}$$

$$P = i \sqrt{\frac{m\hbar\omega}{2}} (\alpha^\dagger - \alpha) = i \sqrt{\frac{m\hbar\omega}{2}} \begin{pmatrix} 0 & -\sqrt{1} & 0 & 0 & 0 \\ \sqrt{1} & 0 & -\sqrt{2} & 0 & 0 \\ 0 & \sqrt{2} & 0 & -\sqrt{3} & 0 \\ 0 & 0 & \sqrt{3} & 0 & -\sqrt{4} \\ 0 & 0 & 0 & \sqrt{4} & 0 \\ \dots & & & & \dots \end{pmatrix}$$

$$P^2 = \frac{m\hbar\omega}{2} \begin{pmatrix} 1 & 0 & -\sqrt{1 \times 2} & 0 & 0 \\ 0 & 1+2 & 0 & -\sqrt{2 \times 3} & 0 \\ -\sqrt{1 \times 2} & 0 & 2+3 & 0 & -\sqrt{3 \times 4} \\ 0 & -\sqrt{2 \times 3} & 0 & 3+4 & 0 \\ 0 & 0 & -\sqrt{3 \times 4} & 0 & 4+5 \\ \dots & & & & \dots \end{pmatrix}$$

حالتوں کا بنی H، یا H

$$H = \frac{P^2}{2m} + \frac{1}{2} m \omega^2 X^2$$

ت)؛ توجہ یہ قیمت عالی قبل و این کہ
دی راه ساده تری هم وجود دارد.

$$H|n\rangle = \hbar\omega(n + \frac{1}{2})|n\rangle$$

$$H = \hbar\omega \begin{pmatrix} \frac{1}{2} & 0 & 0 & 0 \\ 0 & \frac{3}{2} & 0 & 0 \\ 0 & 0 & \frac{5}{2} & 0 \\ 0 & 0 & 0 & \frac{7}{2} \\ \dots & & & & \dots \end{pmatrix}$$

$$|n\rangle = \frac{1}{\sqrt{n!}} (\hat{a}^\dagger)^n |0\rangle$$

$$\hat{a}|n\rangle = \frac{1}{\sqrt{n!}} \hat{a} [(\hat{a}^\dagger)^n |0\rangle] = \frac{1}{\sqrt{n!}} n(\hat{a}^\dagger)^{n-1} |0\rangle = \sqrt{n} \frac{(\hat{a}^\dagger)^{n-1}}{\sqrt{(n-1)!}} |0\rangle = \sqrt{n} |n-1\rangle \quad (الف. 2)$$

use eq. 6-47
from the book

$$\hat{x} = \sqrt{\frac{\hbar}{2m\omega}} (\hat{a} + \hat{a}^\dagger) \quad \hat{p} = i\sqrt{\frac{m\omega\hbar}{2}} (\hat{a}^\dagger - \hat{a})$$

$$\begin{aligned} \langle m | \hat{x} | n \rangle &= \sqrt{\frac{\hbar}{2m\omega}} \langle m | \hat{a} + \hat{a}^\dagger | n \rangle = \sqrt{\frac{\hbar}{2m\omega}} (\sqrt{n} \langle m | n-1 \rangle + \sqrt{m} \langle m-1 | n \rangle) \\ &= \sqrt{\frac{\hbar}{2m\omega}} [\sqrt{n} \delta_{m,n-1} + \sqrt{m+1} \delta_{m,n+1}] \end{aligned} \quad (ب)$$

$$\langle m | \hat{p} | n \rangle = i\sqrt{\frac{m\omega\hbar}{2}} \langle m | \hat{a}^\dagger - \hat{a} | n \rangle = i\sqrt{\frac{m\omega\hbar}{2}} [\sqrt{n+1} \delta_{m,n+1} - \sqrt{n} \delta_{m,n-1}] \quad (ج)$$

$$\langle m | \hat{p} \hat{x} | n \rangle = \langle m | \hat{p} \hat{\mathbb{I}} \hat{x} | n \rangle = \sum_k \langle m | \hat{p} | k \rangle \langle k | \hat{x} | n \rangle \quad \hat{\mathbb{I}} = \sum_k |k\rangle \langle k| \quad (د)$$

$$= \frac{i\hbar}{2} \sum_k (\sqrt{m} \delta_{m-1,k} - \sqrt{m+1} \delta_{m+1,k}) (\sqrt{n} \delta_{k,n-1} + \sqrt{n+1} \delta_{k,n+1})$$

$$= \frac{i\hbar}{2} [\sqrt{mn} \delta_{m,n} - \sqrt{(m+1)n} \delta_{m+1,n-1} + \sqrt{m(n+1)} \delta_{m-1,n+1} - \sqrt{(m+1)(n+1)} \delta_{m+1,n+1}]$$

$$= \frac{i\hbar}{2} [-\delta_{m,n} - \sqrt{(m+1)(n+2)} \delta_{m+2,n} + \sqrt{(m+1)(n+2)} \delta_{m,n+2}]$$

since $\hat{x}^\dagger = \hat{x}$ and $\hat{p}^\dagger = -\hat{p}$:

$$\langle m | \hat{x} \hat{p} | n \rangle = [(\langle m | \hat{x} \hat{p} | n \rangle)^*]^* = [\langle n | (\hat{x} \hat{p})^\dagger | m \rangle]^* = [\langle n | \hat{p} \hat{x} | m \rangle]^*$$

$$= -\frac{i\hbar}{2} [-\delta_{m,n} - \sqrt{(n+1)(n+2)} \delta_{m,n+2} + \sqrt{(m+1)(m+2)} \delta_{n,m+2}]$$

$$\langle m | [\hat{x}, \hat{p}] | n \rangle = \langle m | \hat{x} \hat{p} - \hat{p} \hat{x} | n \rangle = \langle m | \hat{x} \hat{p} | n \rangle - \langle m | \hat{p} \hat{x} | n \rangle \quad (ه)$$

$$= i\hbar \delta_{m,n}$$

Eigen functions are:

$$\dots \dots \dots \langle n | T_0^{-1} | n \rangle = \langle x - \xi | n \rangle = \phi_n(x - \xi)$$

$$\Delta x^2 = \langle n | \hat{x}^2 | n \rangle - \underbrace{\langle n | \hat{x} | n \rangle^2}_{\text{zero}} \Rightarrow \Delta x = \sqrt{\langle n | \hat{x}^2 | n \rangle} \quad (2)$$

As the same $\Delta p = \sqrt{\langle n | \hat{p}^2 | n \rangle}$

$$\hat{x}^2 = \frac{\hbar}{2m\omega} (\hat{a} + \hat{a}^\dagger)^2 = \frac{\hbar}{2m\omega} (\hat{a} + \hat{a}^\dagger)(\hat{a} + \hat{a}^\dagger) = \frac{\hbar}{2m\omega} [\hat{a}^2 + \hat{a}^{\dagger 2} + \hat{a}^\dagger \hat{a} + \hat{a} \hat{a}^\dagger]$$

Since $[\hat{a}, \hat{a}^\dagger] = \hat{a} \hat{a}^\dagger - \hat{a}^\dagger \hat{a} = \mathbb{1}$

$$\hat{x}^2 = \frac{\hbar}{2m\omega} [\hat{a}^2 + \hat{a}^{\dagger 2} + 2\hat{a}^\dagger \hat{a} + \mathbb{1}]$$

$$\hat{p}^2 = -\frac{m\hbar\omega}{2} [\hat{a}^2 + \hat{a}^{\dagger 2} - 2\hat{a}^\dagger \hat{a} - \mathbb{1}]$$

$$\begin{aligned} \langle n | \hat{x}^2 | n \rangle &= \frac{\hbar}{2m\omega} \left[\underbrace{\langle n | \hat{a}^2 | n \rangle}_{\text{zero}} + \underbrace{\langle n | \hat{a}^{\dagger 2} | n \rangle}_{\text{zero}} + 2 \underbrace{\langle n | \hat{a}^\dagger \hat{a} | n \rangle}_n + \underbrace{\langle n | \mathbb{1} | n \rangle}_1 \right] \\ &= \frac{\hbar}{2m\omega} (2n+1) \end{aligned}$$

$$\langle n | \hat{p}^2 | n \rangle = \frac{m\omega\hbar}{2} (2n+1)$$

$$\Delta x = \sqrt{\frac{\hbar}{2m\omega} (2n+1)} \quad \Delta p = \sqrt{\frac{m\omega\hbar}{2} (2n+1)}$$

$$\hat{H} = \frac{\hat{p}^2}{2m} + \frac{1}{2} m\omega^2 \hat{x}^2 - eE\hat{x} = \hat{H}_0 - eE\hat{x} \quad .3$$

$$= \frac{\hat{p}^2}{2m} + \frac{1}{2} m\omega^2 \left[\hat{x} - \frac{eE}{m\omega^2} \right]^2 - \frac{e^2 E^2}{2m\omega^2}$$

$$E_0 = \frac{e^2 E^2}{2m\omega^2} \quad \xi = \frac{eE}{m\omega^2}$$

$$\Rightarrow \hat{H} = \frac{\hat{p}^2}{2m} + \frac{1}{2} m\omega^2 [\hat{x} - \xi]^2 - E_0$$

$$\hat{T}_\xi = e^{\frac{i}{\hbar} \xi \hat{p}}$$

$$\hat{T}_\xi | x \rangle = | x - \xi \rangle$$

$$\hat{T}_\xi^{-1} \hat{x} \hat{T}_\xi = \hat{x} - \xi$$

$$\Rightarrow \hat{H} = \hat{T}_\xi^{-1} \hat{H}_0 \hat{T}_\xi - E_0$$

$$\begin{aligned} \hat{H} | \psi_n \rangle &= \hat{T}_\xi^{-1} \hat{H}_0 \hat{T}_\xi \hat{T}_\xi^{-1} | n \rangle - E_0 | \psi_n \rangle = \hat{T}_\xi^{-1} \hat{H}_0 | n \rangle - E_0 | \psi_n \rangle = (E_n - E_0) | \psi_n \rangle \\ &= [\hbar\omega(n + \frac{1}{2}) - E_0] | \psi_n \rangle \end{aligned}$$

Eigen functions are:

$$\Psi_n(x) = \langle x | \Psi_n \rangle = \langle x | T_{\xi}^{-1} | n \rangle = \langle x - \xi | n \rangle = \phi_n(x - \xi)$$

$$E_n = \hbar \omega (n + \frac{1}{2})$$

The classical turning points occur at:

4

$$E_n = \frac{1}{2} m \omega^2 \tilde{x}_n^2 \quad \tilde{x}_n = \sqrt{\frac{\hbar}{m\omega}} (2n+1)$$

$$P_n(\text{outside}) = 1 - P_n(\text{inside}) = 1 - \int_{-\tilde{x}_n}^{\tilde{x}_n} |\phi_n(x)|^2 dx$$

$$n=0 \Rightarrow P_0(\text{outside}) = 1 - \int_{-\tilde{x}_0}^{\tilde{x}_0} \frac{1}{\sqrt{\alpha}} e^{-\frac{m\omega x^2}{\hbar}} dx \quad t \equiv \sqrt{\frac{m\omega}{\hbar}} x$$

$$= 1 - \frac{\tilde{x}_0^2}{\sqrt{\alpha}} \int_{-1}^1 e^{-t^2} dt$$

$$= 1 - \frac{2}{\sqrt{\alpha}} \left(\frac{\hbar}{m\omega} \right) \int_0^1 e^{-t^2} dt$$

$$= 1 - \frac{\hbar}{m\omega} \operatorname{erf}(1)$$

where $\operatorname{erf}(x) = \frac{2}{\sqrt{\pi}} \int_0^x e^{-t^2} dt$.

$$n=1 \Rightarrow P_1(\text{outside}) = 1 - \int_{-\tilde{x}_1}^{\tilde{x}_1} \frac{1}{\sqrt{\alpha}} \frac{m\omega}{\hbar} x^2 e^{-\frac{m\omega x^2}{\hbar}} dx \quad \alpha \equiv \frac{m\omega}{\hbar}$$

$$= 1 - \frac{2}{\sqrt{\alpha}} \alpha \int_0^{\tilde{x}_1} x^2 e^{-\alpha x^2} dx$$

$$= 1 - \frac{2\alpha}{\sqrt{\alpha}} \frac{\partial}{\partial \alpha} \left[\int_0^{\tilde{x}_1} e^{-\alpha x^2} dx \right]$$

$$P_1(\text{outside}) = 1 + \frac{2\alpha}{\sqrt{\alpha}} \frac{\partial}{\partial \alpha} \left[\int_0^{\sqrt{\frac{3\hbar}{m\omega}}} e^{-\alpha x^2} dx \right] \quad t \equiv \sqrt{\alpha} x$$

$$= 1 + \frac{2\alpha}{\sqrt{\alpha}} \frac{\partial}{\partial \alpha} \left[\int_0^{\sqrt{3}} e^{-t^2} dt \frac{1}{\sqrt{\alpha}} \right]$$

$$= 1 + \frac{2\alpha}{\sqrt{\alpha}} \frac{\partial}{\partial \alpha} \left(\frac{1}{\sqrt{\alpha}} \right) \times \operatorname{erf}(\sqrt{3})$$

$$= 1 + \alpha \left(-\frac{1}{2\alpha\sqrt{\alpha}} \right) \operatorname{erf}(\sqrt{3})$$

$$P_1(\text{outside}) = 1 - \frac{1}{2} \sqrt{\frac{\hbar}{m\omega}} \operatorname{erf}(\sqrt{3})$$

$n=2 \Rightarrow$ This is like previous cases with a little bit more calculations.